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00,000000000000 f(z,y) DOOD0,000000 :00000.00
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n=1,2,---,100000 n2,n3,1/n000,000000.0000000000
00000,0000000000.0000000 ex1_.df900000000.

1 n n"2 n"3 1/n

2 1 1.00000000 1.00000000 1.00000000
3 2 4.00000000 8.00000000 0.50000000
4 3 9.00000000 27.00000000 0.33333333
5 4 16.00000000 64.00000000 0.25000000
6 5 25.00000000 125.00000000 0.20000000
7 6 36.00000000 216.00000000 0.16666667
8 7 49.00000000 343.00000000 0.14285714
9 8 64.00000000 512.00000000 0.12500000
10 9 81.00000000 729.00000000 0.11111111
11 10 100.00000000 1000.00000000 0.10000000
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0010 10000000000000OO,0000000.000000000¢0,
0000 BASICOODOO FORTRAN 0O O,

12000 { 100.003 (0000 BASIC) 0

0.01 =
; 99.95277 (0 00 FORTRAN)

000000000000.0000000002 000000,

Ry 100.00295 (0D OO)O
(1.2)

0.01 =
; 100.00000000001425 (Ooo)

gbobobob.obobobobob,bob0obOn ex2-e.90,ex2-d.f90 O
gogoooo.

03

z=00,01,---,09100000 x200000000000000,00000
ooooo,

z=0.0; 5s=0.0;
while x < 1.0do
begins =s+a?; r=x+0.1end;

print s

gboobgoboobob.booboob.bobooboobg,

10 2.85 (0000 BASIC)
(1.3)

Z(O.ln)2 =
~ 3.85 (000 FORTRAN)
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- , [28500004 (OOO)
> (0.1n)* = (1.4)
— 3.8499999999999996 (0 O O)

000080000000 000D000O0.001400000000,00000000000
oooo.

)00000000000000 Intel(R) Core(TM)2 Duo CPU P8600 @ 2.40GHzO O O O . FOR-
TRAN OO OODOO gfortran (GNU Fortran (Debian 4.4.5-8)4.4.5) 00 00.
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> (0.1n)* = 3.85 (1.5)
n=0
000,0000000000,
d K= s+ DEn+1) (1.6)
k=0

00000000000%. 00000000,0000 BASIC,OOOOOOO
gbobodb,gbbezs=100000000000000000000000OO.
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